Discussiones Mathematicae General Algebra and Applications 41 (2021) 5–13 doi:10.7151/dmgaa.1358

EQUIVALENT FORMS FOR A POSET TO BE MODULAR POSET

P. SUNDARAYYA AND T. RAVI KISHORE

Department of Mathematics GITAM (deemed to be University), Visakhapatnam Andhra Pradesh, India - 530 003

> e-mail: psundarayya@gmail.com kishore.tangi@gmail.com

Abstract

The notion of modular and distributive posets which generalize the corresponding notions from the lattice theory are introduced by J. Larmerova and J. Rachnek. Later some extended results of uniquely complemented lattice are derived to uniquely complemented posets. Now, in this paper, some equivalent conditions for a poset to be modular poset are given.

Keywords: poset, lattice, modular poset.

2010 Mathematics Subject Classification: 06A06, 06A11.

1. INTRODUCTION

Modularity in lattice theory is an interesting topic. In [3], Larmerova and Rachunek introduced concepts of modular posets and distributive posets. They have proved that any distributive poset is a modular poset and some other results are proved. An example of modular poset which is not a distributive poset and not a lattice is given. An example of distributive poset which is not a lattice is given. Some results are derived on modular posets. In [5], Waphere and Joshi worked on uniquely complimented posets. Now, in this paper, some equivalent conditions of poset to be modular poset are given. Some properties of modular poset are derived. Dual of equivalent condition for a lattice to be modular lattice is quite natural in lattices. But dual of equivalent condition for a poset to be modular poset is not simple. Now we start with the following basic concepts.

2. Preliminaries

In this section, we begin with necessary definitions and terminologies in a poset P. Let $A \subseteq P$. The set $\mathcal{A}^u = \{x \in P/x \ge a \text{ for every } a \in A\}$ is called the upper cone of A. Dually,we have a concept of the lower cone \mathcal{A}^l of A. \mathcal{A}^{ul} shall mean $\{\mathcal{A}^u\}^l$ and \mathcal{A}^{lu} shall mean $\{\mathcal{A}^l\}^u$. The lower cone $\{a\}^l$ is simply denoted by a^l and $\{a, b\}^l$ is it denoted by $(a, b)^l$. Similar notations are used for upper cones. Further, for $A, B \subseteq P$, $\{A \cup B\}^u$ is denoted by $\{A, B\}^u$ and for $x \in P$ the set $\{A \cup \{x\}\}^u$ is denoted by $\{A, x\}^u$. Similar notations are used for lower cones. Some properties of posets are given in the following

- (i) $A^{lul} = A^l, A^{ulu} = A^u$.
- (ii) $\{a^u\}^l = \{a\}^l = a^l$ and $\{a^l\}^u = \{a\}^u = a^u$.
- (iii) $A \subseteq \mathcal{A}^{ul}$ and $A \subseteq \mathcal{A}^{lu}$.
- (iv) If $A \subseteq B$ then $B^l \subseteq A^l$ and $B^u \subseteq A^u$.

An element $y \in P$ is said to be a complement of $x \in P$, if $(x, y)^{ul} = (x, y)^{lu} = P$. P is said to be complemented if each element of P has a complement in P and P is said to be uniquely complemented if each element $x \in P$ has a unique complement, denoted by x' in P. A distributive complemented poset is called a Boolean poset. Let P be a uniquely complemented poset and $A \subseteq P$. Denote $A' = \{a' : a \in A\}$. We say that P satisfies De Morgan's laws if $\{(x, y)^u\}' = (x', y')^l$ and $\{(x, y)^l\}' = (x', y')^u$ for all $x, y \in P$.

3. Modular Poset and some equivalent forms

We begin this section with the definition of a Modular Poset.

Definition 3.1. A poset P is said to be Modular Poset if for all $a, b, c \in P$ with $a \leq c$ implies $(a, (b, c)^l)^{ul} = ((a, b)^u, c)^l$.



In the following, the examples of modular poset and distributive posets are given. The second diagram represents modular poset which is not a distributive poset and not a lattice where as the first diagram represents a distributive poset which is not a lattice.

In the above Hasse diagram of the poset is a distributive poset P^d but not a lattice because it satisfies distributive law $((x, y)^u, z)^l = ((x, z)^l, (y, z)^l)^{ul}$ for all $x, y, z \in P^d$. Now look the following Hasse diagram.



It is a modular poset but not a distributive poset because $((c, d)^u, e)^l = \{0, a, b, e\} \neq \{0, a, b, \} = ((c, e)^l, (d, e)^l)^{ul}$. In the following, some results on posets are proved which are used later.

Lemma 3.2. Let (P, \leq) be poset then $(a, b)^u \subseteq (a, (b, c)^l)^u$ for every $a, b, c \in P$.

Proof. Let $x \in (a, b)^u$. Then $x \ge a, x \ge b$. Let $t \in (b, c)^l$, this mean that $t \le b, t \le c$. Then we have $x \ge b \ge t$. Thus $x \ge a, x \ge t$ for all $t \in (b, c)^l$ which implies $x \in (a, (b, c)^l)^u$. Thus we have $(a, b)^u \subseteq (a, (b, c)^l)^u$.

Lemma 3.3. Let (P, \leq) be a poset and $a, b, c \in P$, if $a \leq c$ then $((a, b)^u, c) \subseteq (a, (b, c)^l)^u$.

Proof. Let $z \in ((a, b)^u, c)$. Then $z \in (a, b)^u \cup \{c\}$. This implies $z \in (a, b)^u$ or z = c. If z = c, then we have to show that $c \in (a, (b, c)^l)^u$. Suppose $t \in (b, c)^l$. Then $t \leq b, t \leq c$. Hence $c \in (a, (b, c)^l)^u$. By lemma 3.2 if $z \in (a, b)^u$ then $z \in (a, (b, c)^l)^u$. In either case $z \in (a, (b, c)^l)^u$. Therefore $((a, b)^u, c) \subseteq (a, (b, c)^l)^u$. By a property (iv) in the preliminaries, we have $(a, (b, c)^l)^{ul} \subseteq ((a, b)^u, c)^l$.

Corollary 3.4. Let (P, \leq) be a poset and $a, b, c \in P$ if $a \leq c$, then $(a, (b, c)^l)^{ul} \subseteq ((a, b)^u, c)^l$.

Proof. By Lemma 3.3, for $a \leq c$ we have $((a, b)^u, c) \subseteq ((a, (b, c)^l))^u$. Now, By property(iv), we get $(a, (b, c)^l)^{ul} \subseteq ((a, b)^u, c)^l$.

In this paper, we take P be a poset to mean that (P, \leq) be a poset. It is also given an equivalent condition of a poset to be modular poset in following theorem.

Theorem 3.5. Let P be a poset then P is a modular poset if and only if $a \leq c$ implies $(a, (b, c)^l)^{ul} \supseteq ((a, b)^u, c)^l$.

Proof. Suppose P is modular poset. Let $a \leq c$, then we have $(a, (b, c)^l)^{ul} = ((a, b)^u, c)^l$. Hence $((a, b)^u, c)^l \subseteq (a, (b, c)^l)^{ul}$. Conversely assume that, $a \leq c$. Then $((a, b)^u, c)^l \subseteq (a, (b, c)^l)^{ul}$. Now, we have to prove that $(a, b)^u \subseteq (a, (b, c)^l)^u$. Let $z \in (a, b)^u$. Then $z \geq a$, $z \geq b$ and hence $z \geq a$, $z \geq b \geq (b, c)^l$. Therefore $z \geq a$, $z \geq (b, c)^l$. So that $z \in (a, (b, c)^l)^u$. Thus we have $(a, b)^u \subseteq (a, (b, c)^l)^u$. Now, prove that $((a, b)^u, c) \subseteq (a, (b, c)^l)^u$. Let $z \in ((a, b)^u, c)$. Then $z \in (a, b)^u$ or z = c. If z = c, then $c \in (a, (b, c)^l)^u$ since we have $a \leq c$. So that $c \geq a$, $c \geq t$, for any $t \in (b, c)^l$. If $t \in (b, c)^l$, then $t \leq b, t \leq c$ and hence $c \in (a, (b, c)^l)^u$. Therefore $((a, b)^u, c) \subseteq (a, (b, c)^l)^u$. By the poset property, in the prilimnaries we have $A \subseteq B$ implies $A^l \supseteq B^l$. Therefore $((a, b)^u, c)^l \supseteq (a, (b, c)^l)^{ul}$. Thus we have $(a, (b, c)^l)^{ul}$.

Now, we define the the dual of a modular poset as follows. Let P^* be a poset then P^* is a said to be a dual modular poset if, $a \leq c$ implies $(a, (b, c)^u)^{lu} = ((a, b)^l, c)^u$ for all $a, b, c \in P^*$.

Theorem 3.6. Let $P * be a poset then <math>P * is a dual modular poset if and only if <math>[a \leq c \text{ implies } (a, (b, c)^u)^{lu} \subseteq ((a, b)^l, c)^u].$

Proof. Suppose P^* is dual modular poset. Let $a \leq c$. Then $(a, (b, c)^u)^{lu} = ((a, b)^l, c)^u$ and hence $((a, b)^l, c)^u \supseteq (a, (b, c)^u)^{lu}$. Conversely, assume that $a \leq c \Rightarrow (a, (b, c)^u)^{lu} \subseteq ((a, b)^l, c)^u$. First, we prove that $(a, b)^l \supseteq (a, (b, c)^u)^l$. Let $z \in (a, b)^l$. Then $z \leq a, z \leq b$. Hence $z \leq a, z \leq t$ where $t \in (b, c)^u$. Therefore $z \in (a, (b, c)^u)^l$. Thus $(a, b)^l \supseteq (a, (b, c)^u)^l$. Now, we prove that $((a, b)^l, c) \supseteq (a, (b, c)^u)^l$. Let $z \in ((a, b)^l, c)$. Then $z \in (a, b)^l$ or z = c. If z = c, then $c \in (a, (b, c)^u)^l$. Since we have $a \leq c$, so that $c \geq a, c \geq (b, c)^u$. If $t \in (b, c)^u$, then $t \geq b, t \geq c$ and hence $c \in (a, (b, c)^u)^l$. Therefore $((a, b)^l, c) \supseteq (a, (b, c)^u)^l$. By the poset property, we have $A \subseteq B \Rightarrow A^u \supseteq B^u$. Therefore $((a, b)^l, c)^u \subseteq (a, (b, c)^u)^{lu}$ and hence $(a, (b, c)^u)^{lu} = ((a, b)^l, c)^u$. Thus P^* is dual modular poset.

The following results are true in posets. To proving these results modular posets is not necessary.

Theorem 3.7. Let *P* is a poset, then $a \leq c$ implies $((a,b)^u, (b,c)^u, (c,a)^u)^l \supseteq ((a,b)^l, (b,c)^l, (c,a)^l)^{ul}$.

Proof. Let P be a poset. It is enough to prove that $((a,b)^u, (b,c)^u, (c,a)^u) \subseteq$ $((a,b)^{l}, (b,c)^{l}, (c,a)^{l})^{u}$. We have $((a,b)^{u}, c)^{l} \subseteq (a, (b,c)^{l})^{ul}$ by Lemma 3.3 and let $z \in (a,b)^u \cup (b,c)^u \cup (c,a)^u$. Then $z \in (a,b)^u$ or $z \in (b,c)^u$ or $z \in (c,a)^u$. Now, we have to prove that $z \in ((a,b)^l, (b,c)^l, (c,a)^l)^u$ i.e., $z \ge t$ for any $t \in$ $(a,b)^l \cup (b,c)^l \cup (c,a)^l$. Suppose $t \in (a,b)^l \cup (b,c)^l \cup (c,a)^l$. Then $t \in (a,b)^l$ or $t \in (b,c)^l$ or $t \in (c,a)^l$. Suppose $z \ge a, b$ and $t \in (a,b)^l$. Then $t \le a, b$ and hence $a \ge t$ and $z \ge a$. Therefore $z \ge t$. If $t \in (b, c)^{l}$. Then $t \le b, t \le c$ and hence $b \ge t$ and $z \ge b$. Therefore $z \ge t$. Suppose $t \in (c, a)^l$. Then $t \le c, t \le a$ and hence $z \ge a$ and $a \ge t$. Therefore $z \ge t$. If $t \in (a,b)^u \cup (b,c)^u \cup (c,a)^u$, then $z \ge t$. Thus $z \in ((a,b)^l \cup (b,c)^l \cup (c,a)^l)^u$. If $z \ge b,c$. Suppose $t \in (a,b)^l$, then $t \le a, t \le b$ and hence $b \ge t$ and $z \ge b$. Therefore $z \ge t$. Suppose $t \in (b,c)^l$, then $t \le b, t \le c$ and hence $b \ge t$ and $z \ge b$. Therefore $z \ge t$. Suppose $t \in (c, a)^l$, then $t \le c, t \le a$ so that $z \ge c$ and $t \le c$. Therefore $z \ge t$. If $t \in (a,b)^l \cup (b,c)^l \cup (c,a)^l$, then $z \ge t$ and hence $z \in ((a,b)^l \cup (b,c)^l \cup (c,a)^l)^u$. If $z \ge c,a$. Suppose $t \in (a,b)^l$, then $t \leq a, t \leq b$. Therefore $z \geq a$ and $t \leq a$. Thus $z \geq t$. Suppose $t \in (b, c)^{l}$, then $t \leq b, t \leq c$ and hence $z \geq c$ and $t \leq c$. Therefore $z \geq t$. Suppose $t \in (c,a)^l$, then $t \leq c$ and $t \leq a$. Therefore $z \geq c$ and $t \leq c$. Thus $z \geq t$. If $t \in (a,b)^l \cup (b,c)^l \cup (c,a)^l$, then $z \ge t$. Therefore $z \in ((a,b)^l \cup (b,c)^l \cup (c,a)^l)^u$. Thus we get, if $a \leq c$, then $((a, b)^u, (b, c)^u, (c, a)^u)^l \supseteq ((a, b)^l, (b, c)^l, (c, a)^l)^{ul}$.

Lemma 3.8. Let *P* be a poset. If $a \leq c$, then $(a, (b, c)^l)^{ul} \subseteq ((a, b)^u, (b, c)^u, (c, a)^u)^l$.

Proof. We prove that $(a, (b, c)^l)^u \supseteq ((a, b)^u, (b, c)^u, (c, a)^u)$. Let $x \in ((a, b)^u, (b, c)^u, (c, a)^u)$. Then $x \in (a, b)^u$ or $x \in (b, c)^u$ or $x \in (c, a)^u$, so that $x \ge a, b$ or $x \ge b, c$ or $x \ge c, a$.

Case (i). If $x \ge c, a$. Now, we have to prove that $x \in (a, (b, c)^l)^u$, i.e., $x \ge \{a\} \cup (b, c)^l$ (ie $x \le a$ or $x \ge t$ for any $t \in (b, c)^l$). Let $t \in (b, c)^l$. Then $t \le b, t \le c$ and hence $x \ge c \ge t$. Therefore $x \ge t$ and hence $x \ge a$ and $x \ge t$. Thus $x \in (a, (b, c)^l)^u$.

Case (ii). If $x \ge b, c$. Now, we have to prove that $x \in (a, (b, c)^l)^u$, i.e., $x \ge \{a\} \cup (b, c)^l$ (i.e., $x \ge a$ and $x \ge t$ for any $t \in (b, c)^l$). Let $t \in (b, c)^l$. Then $t \le b, t \le c$ and hence $x \ge c \ge t$. Therefore $x \ge t$. Hence $x \ge a$ and $x \ge t$. Thus $x \in (a, (b, c)^l)^u$.

Case (iii). If $x \ge a, b$. Now, we have to prove that $x \in (a, (b, c)^l)^u$, i.e., $x \ge \{a\} \cup (b, c)^l$ (i.e., $x \ge a$ and $x \ge t$ for any $t \in (b, c)^l$). Let $t \in (b, c)^l$. Then $t \le b, t \le c$ and hence $x \ge b \ge t$. Therefore $x \ge t$. Hence $x \ge a$ and $x \ge t$. Thus $x \in (a, (b, c)^l)^u$. Therefore $(a, (b, c)^l)^{ul} \subseteq ((a, b)^u \cup (b, c)^u \cup (c, a)^u)^l$.

Lemma 3.9. If *P* is a poset, and $a \leq c$, then $((a, b)^u, c)^l \supseteq ((a, b)^l, (b, c)^l, (c, a)^l)^{ul}$.

Proof. Now, we have to prove that $((a,b)^u, c) \subseteq ((a,b)^l, (b,c)^l, (c,a)^l)^u$. Let $x \in ((a,b)^u, c)$. Then $x \in (a,b)^u \cup \{c\}$. Thus $x \in (a,b)^u$ or x = c. Now, we have to prove that $x \ge t$ for any $t \in (a,b)^l \cup (b,c)^l \cup (c,a)^l$. If x = c. Suppose $t \in (a,b)^l$. Then $t \le a, t \le b$. Therefore $t \le a \le c$. Hence $t \le c = x$. Thus $x \ge t$. If $t \in (b,c)^l$, then $t \le b, t \le c$. Therefore $x \ge t$. If $t \in (c,a)^l$, then $t \le c = x$. Therefore $x \ge t$. If $t \in (a,b)^l \cup (b,c)^l \cup (c,a)^l$. Then $x \le (a,b)^l \cup (b,c)^l \cup (c,a)^l$. Suppose $x \in (a,b)^u$. Then $x \ge a, b$. Now, we have to prove that $x \in ((a,b)^l, (b,c)^l, (c,a)^l)^u$, i.e., $x \ge t$ for any $t \in (a,b)^l \cup (b,c)^l \cup (c,a)^l$. If $t \in (a,b)^l$, then $t \le a, t \le b$ and hence $x \ge a$ and $a \ge t$. Therefore $x \ge t$. If $t \in (b,c)^l$, then $t \le c$ and hence $x \ge b \ge t$. Therefore $x \ge t$. If $t \in (c,a)^l$, then $t \le c, t \le a$ and hence $x \ge a \ge t$. Therefore $x \ge t$. If $t \in (c,a)^l$, then $t \le c, t \le a$ and hence $x \ge a \ge t$. Therefore $x \ge t$. If $t \in (c,a)^l$, then $t \le c, t \le a$ and hence $x \ge a \ge t$. Therefore $x \ge t$. If $t \in (c,a)^l$, then $t \le c, t \le a$ and hence $x \ge a \ge t$. Therefore $x \ge t$. If $x \in ((a,b)^l, (b,c)^l, (c,a)^l)^u$. Hence $((a,b)^l, (b,c)^l, (c,a)^l)^{ul}$. Thus, we have $((a,b)^u, c) \subseteq ((a,b)^l, (b,c)^l, (c,a)^l)^u$.

Note. If *P* is a modular Poset, then for any $a \leq c$, we have from the Definition 3.1, Lemmas 3.5, 3.8, 3.9, $((a,b)^u, (b,c)^u, (c,a)^u)^l \supseteq (a, (b,c)^l)^{ul} = ((a,b)^u, c)^l \supseteq ((a,b)^l, (b,c)^l, (c,a)^l)^{ul}$.

Theorem 3.10. Let P be a poset. Then P is modular if and only if $a \ge c$ implies $(a, (b, c)^u)^{lu} = ((a, b)^l, c)^u$ for all $a, b, c \in P$.

Proof. Suppose P is a modular poset. Let $a \ge c$. We have $(c, (b, a)^l)^{ul} = ((c, b)^u, a)^l$. Therefore $(c, (a, b)^l)^{ulu} = (a, (b, c)^u)^{lu}$. Hence $(c, (a, b)^l)^u = (a, (b, c)^u)^{lu}$. Thus $(a, (b, c)^u)^{lu} = ((a, b)^l, c)^u$ for $a, b, c \in P$. Conversely, assume that $a \ge c$ implies $(a, (b, c)^u)^{lu} = ((a, b)^l, c)^u$ for $a, b, c \in P$. Now, we have to prove that $x \le z$ implies $(x, (y, z)^l)^{ul} = ((x, y)^u, z)^l$ for all $x, y, z \in P$. Let $x \le z$. Then $(z, (y, x)^u)^{lu} = ((z, y)^l, x)^{ul}$. Therefore $(z, (x, y)^u)^{lul} = ((y, z)^l, x)^{ul}$ and hence $(z, (x, y)^u)^l = ((y, z)^l, x)^{ul}$. Thus, we have $(x, (y, z)^l)^{ul} = ((x, y)^u, z)^l$ for all $x, y, z \in P$.

Theorem 3.11. Let P be a poset. Then P is a modular poset if and only if $a, b, c \in P$, $a \in c^l, c^l \subseteq (a, b)^u$, then $(a, (b, c)^l)^{ul} = c^l$.

Proof. Suppose P is a poset. Assume that P is a modular poset and $a \leq c$. Let $a \in c^l, c^l \subseteq (a, b)^u$. Then $(a, (b, c)^l)^{ul} = ((a, b)^u, c)^l$. Now, we have to prove that $((a, b)^u, c)^l = c^l$. Let $x \in ((a, b)^u, c)^l$. Then $x \leq c, x \leq t$ for any $t \in (a, b)^u$. Therefore $x \in c^l$. Hence $((a, b)^u, c)^l \subseteq c^l$. suppose $x \in c^l$. Then $x \leq c, c^l \subseteq (a, b)^u$ and hence $x \in ((a, b)^u, c)^l$. Therefore $c^l \subseteq ((a, b)^u, c)^l$. Thus $((a, b)^u, c)^l = c^l$. Conversely, assume that $a \leq c$. Now, we have to prove that $(a, (b, c)^l)^{ul} = ((a, b)^u, c)^l$. We know that $a \in ((a, b)^u, c)^l$, so that $((a, b)^u, c)^l \subseteq (a, b)^u$. By the above condition, we get that $(a, (b, ((a, b)^u, c)^l))^{ul} = ((a, b)^u, c)^l$.

Now, we prove that $(a, (b, ((a, b)^u, c)^l)) = (a, (b, c)^l)$. It is enough to prove that $(b, ((a, b)^u, c)^l) = (b, c)^l$. Let $x \in (b, ((a, b)^u, c)^l)$. Then $x \leq b, x \leq t$ for any $t \in ((a, b)^u, c)$ and hence $x \leq b, x \leq t, t \leq c$. Therefore $x \leq b, x \leq c$. Hence $x \in (b, c)^l$. Thus $(b, ((a, b)^u, c)^l) \subseteq (b, c)^l$. On the other hand $x \in (b, c)^l$. Then $x \leq b, x \leq c$. Now, we have to prove that $x \in ((a, b)^u, c)^l$. Suppose $t \in (a, b)^u$. Then $t \geq a, t \geq b$ and hence $t \geq b$. Therefore $x \leq b \leq t$ (since $x \leq b$). Hence $x \leq t$. Thus $x \leq c$ and $x \leq t$ for any $t \in (a, b)^u$. Therefore $x \in (c, (a, b)^u)^l$. Hence $(b, c)^l \subseteq (b, ((a, b)^u, c)^l)$. Thus we get that $(b, ((a, b)^u, c)^l) = (b, c)^l$. Therefore $(a, ((a, b)^u, c)^l) = (a, (b, c)^l)$.

Theorem 3.12. Let P be a poset. Then P is a modular poset if and only if $a, b, c \in P, (a, b)^l \subseteq c^u, c^u \subseteq a^u$, then $(a, (b, c)^u)^{lu} = c^u$.

Proof. Suppose P is a poset. Assume that P is a modular poset and $a \leq c$. Let $(a,b)^l \subseteq c^u, c^u \subseteq a^u$. Then $(a,(b,c)^u)^{lu} = ((a,b)^l,c)^u$. Now, we have to prove that $((a,b)^l,c)^u = c^u$. Let $x \in ((a,b)^l,c)^u$. Then $x \ge c, x \ge t$ for any $t \in (a,b)^l$ and hence $x \in c^u$. Therefore $((a, b)^l, c)^u \subseteq c^u$. Suppose $x \in c^u$. Then $x \ge c, c^u \supseteq$ $(a,b)^l$ and hence $x \in ((a,b)^l,c)^u$. Therefore $c^u \supseteq ((a,b)^l,c)^u$. Thus $((a,b)^l,c)^u =$ c^{u} . Conversely, assume that $a \leq c$. Now, we have to prove that $(a, (b, c)^{u})^{lu} =$ $((a,b)^l,c)^u$. We have $(a,b)^l \subseteq ((a,b)^l,c)^u$. By the above condition we get that $(a, (b, ((a, b)^l, c)^u)^{lu} = ((a, b)^l, c)^u$. Now we prove $(a, (b, ((a, b)^l, c)))^u = (a, (b, c)^u)$. It is enough to prove that $(b, ((a, b)^l, c))^u = (b, c)^u$. Let $x \in (b, ((a, b)^l, c))^u$. Then $x \ge b, x \ge t$ for any $t \in ((a, b)^l, c)$ and hence $x \ge b, x \ge t, t \ge c$. Therefore $x \ge c$ $b, x \ge c$. Hence $x \in (b, c)^u$. Thus $(b, ((a, b)^l, c))^u \subseteq (b, c)^u$. On the other hand, let $x \in (b,c)^u$. Then $x \ge b, x \ge c$. Now, we have to prove that $x \in ((a,b)^l,c)^u$ i.e., $x \ge c$ and $x \ge t$ for any $t \in (a, b)^l$. Suppose $t \in (a, b)^l$. Then $t \le a, t \le b$ and hence $t \ge b$. We have $x \ge b$, so that $x \ge b \ge t$. Therefore $x \ge t$. Hence $x \leq c$ and $x \geq t$ for any $t \in (a,b)^l$. Thus $(b,c)^u \subseteq (b,((a,b)^l,c)^u)$. Therefore $(b, ((a, b)^l, c))^u = (b, c)^u$. Thus $(a, (b, ((a, b)^l, c))^u) = (a, (b, c)^u)$.

Theorem 3.13. Let(P, \leq) be a poset then P is modular poset if and only if $a \geq c$ implies $(a, (b, c)^u)^{lu} \subseteq ((a, b)^l, c)^u$.

Proof. Suppose P is a modular poset. Let $a \ge c$. Then $(a, (b, c)^u)^{lu} = ((a, b)^l, c)^u$. Therefore $(a, (b, c)^u)^{lu} \subseteq ((a, b)^l, c)^u$. Conversely, assume that $a \ge c$ implies $(a, (b, c)^u)^{lu} \subseteq ((a, b)^l, c)^u$. Now, we have to prove that $(a, (b, c)^u)^l \supseteq ((a, b)^l, c)$. Let $z \in (a, b)^l$. Then $z \le a, z \le b$ and hence $z \le a, z \le b \in (b, c)^u$. Therefore $z \in (a, (b, c)^u)^l$. Thus $(a, b)^l \subseteq (a, (b, c)^u)^l$. Now, we prove that $((a, b)^l, c) \subseteq (a, (b, c)^u)^l$. Let $z \in ((a, b)^l, c)$. Then $z \in (a, b)^l$ or z = c. If z = c, then $c \in (a, (b, c)^u)^l$. If $t \in (b, c)^u$, then $t \ge b, t \ge c$. Therefore $c \in (a, (b, c)^u)^l$. Hence $((a, b)^l, c) \subseteq (a, (b, c)^u)^l$. Therefore, by poset property, $A \subseteq B$ implies $A^u \supseteq B^u$, we get that $((a, b)^l, c)^u \supseteq (a, (b, c)^u)^{lu}$. Thus we get $(a, (b, c)^u)^{lu} = ((a, b)^l, c)^u$. Lemma 3.14. (A) $(a, (a, c)^l)^{ul} = a^{ul}$.

Proof. Let $x \in (a, (a, c)^l)^u$. Then $x \ge a, x \ge t$ for any $t \in (a, c)^l$ and hence $x \ge a, x \ge t$. Therefore $t \le a \le x, a \le x$. Hence $x \ge a$. Therefore $x \in a^u$, so that $(a, (a, c)^l)^u \subseteq a^u$. Thus $(a, (a, c)^l)^{ul} \supseteq a^{ul}$. Let $x \in a^u$, Then $x \ge a$. Now, we have to prove that $x \ge t$ for any $t \in (a, c)^l$. Suppose $t \in (a, c)^l$. Then $t \le a, t \le c$ and hence $x \le a \le t$. Therefore $x \ge t$. Thus $x \in (a, (a, c)^l)^u$, so that $a^u \subseteq (a, (a, c)^l)^u$. Therefore $a^u = (a, (a, c)^l)^u$.

The following has similar proof as above lemma.

Lemma 3.15. (B) $(a, (a, c)^u)^{lu} = a^{lu}$.

Proof. Let $x \in (a, (a, c)^u)^l$. Then $x \leq a, x \leq t$ for any $t \in (a, c)^u$ and hence $t \leq a, x \leq t$. Therefore $x \geq a \geq x$, so that $x \leq a$. Hence $x \in a^l$. Thus $(a, (a, c)^u)^l \subseteq a^l$, so that $(a, (a, c)^u)^{lu} \supseteq a^{lu}$. Let $x \in a^l$. Then $x \leq a$. Now, we have to prove that $x \leq t$ for any $t \in (a, c)^u$. Suppose that $t \in (a, c)^u$. Then $t \geq a, t \geq c$ and hence $t \geq a \geq x$, so that $t \geq x$. Therefore $x \in (a, (a, c)^u)^l$. Hence $a^l \subseteq (a, (a, c)^u)^l$. Thus we have $(a, (a, c)^u)^l = a^l$.

Remark 3.16. Let P be a modular poset such that if $(a, c)^u = (b, c)^u$, $(a, c)^l = (b, c)^l$ and $a \leq b$ then $a^{ul} = b^l$.

Proof. Let $a, b, c \in P$. Suppose $(a, c)^u = (b, c)^u, (a, c)^l = (b, c)^l$ and $a \leq b$. Now $a \leq b$ implies $(a, (c, b)^l)^{ul} = ((a, c)^u, b)^l$. Then $(a, (a, c)^l)^{ul} = ((b, c)^u, b)^l$. By known Lemmas (A), (B), we get $a^{ul} = b^l$.

Remark 3.17. If $a^{ul} = b^l$ and $b^{ul} = a^l$, then a = b.

Proof. We know that, $a \in a^{ul} = b^l$, then $a \leq b$. Similarly, if $b \in b^{ul} = a^l$, then $b \leq a$.

Remark 3.18. If $a^{lu} = b^u$ and $b^{lu} = a^u$, then a = b.

Proof. We know that, $a \in a^{lu} = b^u$, then $a \ge b$. Similarly, if $b \in b^{lu} = a^u$, then $b \ge a$.

Finally we conclude with the following theorem.

Theorem 3.19. Let (P, \leq) be a modular poset, then $a \geq c$ implies $((a, b)^l, (b, c)^l, (c, a)^l)^u \supseteq ((a, b)^u, (b, c)^u, (c, a)^u)^{lu}$.

Proof. Assume P is a modular poset. We prove that, $a \ge c$ implies $(a, b)^l$, $(b, c)^l$, $(c, a)^l)^u \supseteq ((a, b)^u, (b, c)^u, (c, a)^u)^{lu}$. It is enough to prove that $((a, b)^l, (b, c)^l, (c, a)^l) \subseteq ((a, b)^u, (b, c)^u, (c, a)^u)^l$ for $a \ge c$. Now, assume $a \ge c$. Let $z \in (a, b)^l \cup (b, c)^l \cup (c, a)^l$. Then $z \in (a, b)^l$ or $z \in (b, c)^l$ or $z \in (c, a)^l$, so that $z \le a, b$ or

 $z \leq b, c$ or $z \leq c, a$. Now, we have to prove that if $z \in ((a, b)^u, (b, c)^u, (c, a)^u)^l$ then, $z \leq t$ for any $t \in ((a, b)^u, (b, c)^u, (c, a)^u)$. Suppose $t \in (a, b)^u \cup (b, c)^u \cup (c, a)^u$. Then $t \in (a, b)^u$ or $t \in (b, c)^u$ or $t \in (c, a)^u$.

Case (i). If $z \leq a, b$. Suppose $t \in (a, b)^u$. Then $t \geq a, b$ and hence $t \geq a \geq z$. Therefore $z \leq t$. Suppose $t \in (b, c)^u$. Then $t \geq b, c$ and hence $z \leq b \leq t$. Therefore $z \leq t$. Suppose $t \in (c, a)^u$. Then $t \geq c, a$ and hence $z \leq a \leq t$. Therefore $z \leq t$. Thus we have, if $t \in (a, b)^u \cup (b, c)^u \cup (c, a)^u$, then $z \leq t$.

Case (ii). If $z \leq b, c$. Suppose $t \in (a, b)^u$. Then $t \geq a, t \geq b$ and hence $z \leq b \leq t$. Therefore $z \leq t$. Suppose $t \in (b, c)^u$. Then $t \geq b, t \geq c$ and hence $z \leq b \leq t$. Therefore $z \leq t$. Suppose $t \in (c, a)^u$. Then $t \geq c, t \geq a$ and hence $z \leq c \leq t$. Therefore $z \leq t$. Thus we have, if $t \in (a, b)^u \cup (b, c)^u \cup (c, a)^u$, then $z \leq t$.

Case (iii). If $z \leq c, a$. Suppose $t \in (a, b)^u$. Then $t \geq a, t \geq b$ and hence $z \leq a \leq t$. Therefore $z \leq t$. Suppose $t \in (b, c)^u$. Then $t \geq b, t \geq c$ and hence $z \leq c \leq t$. Therefore $z \leq t$. Suppose $t \in (c, a)^u$. Then $t \geq c, t \geq a$ and hence $z \leq t$. Therefore $z \leq t$. Thus we have, if $t \in ((a, b)^u, (b, c)^u, (c, a)^u)^{lu}$, then $z \leq t$.

Thus we get $((a,b)^l, (b,c)^l, (c,a)^l) \subseteq ((a,b)^u, (b,c)^u, (c,a)^u)^l$ for $a \ge c$. Hence, if $a \ge c \Rightarrow ((a,b)^l, (b,c)^l, (c,a)^l)^u \supseteq ((a,b)^u, (b,c)^u, (c,a)^u)^{lu}$.

Aknoledgements

We thank the anonymous referee for his careful reading and gratefully acknowledges for his suggestions to improvement of this paper in the present form.

References

- G. Brikhoff, Lattice Theory, American Mathematical Society (Coloquium Publications American Mathematical Society, 1961).
- [2] G. Gratzer, General Lattice Theory (Birkhauser, New York, 1998).
- [3] J. Larmerova and J. Rachunek, Translations of distributive and modular ordered sets, Acta Univ. Palacki Olomonc 91 (1988) 13–23.
- [4] S. Burris and H.P. Sankappanavar, A Course in Universal Algebra (Springer, 1981).
- [5] B.N. Waphare and V.V. Joshi, On uniquely complemented posets, Order 22 (2005) 11-20. doi:10.1007//s11083-005-9002-0

Received 2 March 2020 Revised 3 April 2020 Accepted 8 April 2020